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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR answer sheet. Any omission / discrepancy will render the
answer sheet liable for rejection.

You have to enter your Roll Number on the Test[ ]

Booklet in the Box provided alongside. DO NOT write
anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer Sheet. You are
permitted to take away with you the Test Booklet. _

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBIJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third (0-33) of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

( PO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO)
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A cloth store is offering “Buy 3, get 1
free”. What is the net percentage discount
being offered by the store ?

(a) 20%

(b) 25%

(c) 30%

@ 3331%

X can do a piece of work in 25 days. Y
is 25% more efficient than X. The number
of days taken by Y is :

(a) 15 days

(b) 20 days

(c) 21 days

(d) 30 days

A train takes 10 s to cross a pole and 20 s
to cross a platform of length 200 m.
What is the length of the train ?

(a) 400 m

(b) 300 m

() 200 m

(d) 100 m

A sum of money becomes 3 times in
5 years. In how many years will the same
sum become 6 times at the same rate of
simple interest ?

(a) 15 years

(b) 12.5 years

(¢) 10 years

(d) 7.5 years

o

5.

In a certain school the ratio of boys to
girls is 7 : 5. If there are 2400 students in
the school, how many girls are there ?
(a) 500

(b) 700

(c) 800

(d) 1000

45 people take 18 days to dig a pond. If
the pond would have to be dug in 15 days,
then the number of people to be employed
will be :

(a) 50

(b) 54

(c) 60

(@ 72

A merchant earns a profit of 20% by selling
a basket containing 80 apples which cost
Rs. 240. But he gives one-fourth of it to
his friend at cost price and sells the
remaining apples. In order to earn the same
profit, at what price must he sell each
apple ?

(a) Rs. 3.00

(b) Rs. 3.60

(¢) Rs. 3.80

(d) Rs. 4.80

The least number of four digits which is
a perfect square is :

(a) 1204

(b) 1024

(c) 1402

(d) 1420

(Contd.)
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(a) 1204

(b) 1024

(c) 1402

(d) 1420

(Contd.)



9.

10.

11.

12.

Consider the following statements :

1. Every integer is a rational number.

2. Every rational number is a real
number.

Which of the above statements is/are

correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The product of HCF and LCM of 18 and
15 is :

(a) 120

(b) 150

() 175

(d) 270

What is 3 x 0-3 x 0-03 x 0-003 x 0-0003 x 30
equal to ?

(a) (0-09)

(b) (0-009)

(c) (0-0009)°

(d) None of the above

What is 0.242424......
(2) 23/99

(b) 8/33

(c) 7/33

(d) 47/198

equal to ?

o

13.

14.

15.

16.

A and B can do a piece of work in
10 hours. B and C can do it in 15 hours,
while A and C take 12 hours to complete
the work. B independently can complete
the work in :

(a) 12 hours
(b) 16 hours
(¢) 20 hours
(d) 24 hours

The sum of the squares of two numbers
1s 97 and the square of their difference is
25. The product of the two numbers is :
(a) 45
(b)y 36
(c) 54
(d) 63

Age of X is six times that of Y. After
4 years, X is four times elder to Y. What
is the present age of Y ?

(a) 4 years

(b) 5 years

(c) 6 years

(d) 7 years

A milkman bought 15 kg of milk and
mixed 3 kg of water in it. If the price per
kg of the mixture becomes Rs. 22, what
is cost price of the milk per kg ?

(a) Rs. 28.00

(b) Rs. 26.40

(¢) Rs. 24.00

(d) Rs. 22.60

(Contd.)
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(@) 45

() 36

(c) 54
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(b) = 26.40
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d) T 22.60
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17.

18.

19.

20.

What is 5% of 50% of 500 ?
(a) 12.5

(b) 25

(c) 125

d 6.25

Which one of the following has least
number of divisors ?

(a) 88

(b) 91

(c) 96

(d) 99

A man buys a television set which lists
for Rs. 5,000 at 10% discount. He gets
an additional 2% discount (after the first
discount) for paying cash. What does he
actually pay for the set ?

(a) Rs. 4,410

(b) Rs. 4,400

(¢) Rs. 4,000

(d) Rs. 4,500

Sex ratio is defined as the number of
females per 1000 males. In a place the
total inhabitants are 19,35,000 out of which
9,35,000 are females. What is the sex ratio
for the place ?

(a) 935

(b) 1000

(¢) 1935

(d) 9350

D X))

21.

22.

23.

A car is traveling at a constant rate of
45 km per hour. The distance travelled
by car from 10.40 am to 1.00 pm is :
(a) 165 km

(b) 150 km

(¢) 120 km

(d) 105 km

A number consists of two digits whose
sum is 8. If 18 is added to the number,
the digits are reversed. The number is equal
to :

(a) 26

(b) 35

(¢) 53

(d) 62

If log,, a = p and log,, b = q, then what
is log,, (aP b%) equal to ?
@ p*+q
) p* -
© p’q
2

P’
(d) &

If two factors of a* — 2a®> — 9a% + 2a + 8
are (a + 1) and (a — 1), then what are the
other two factors ?

(a) (a—2)and (a+4)

(b) (a+2)and (a +4)

(¢) (a+2)and (a-4)

(d (@a-2)and (a—-4)

(Contd.)



17.

18.
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20.
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[ R
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(Contd.)



25.

26.

27.

The price of an article is Rs. 25. After
two successive cuts by the same
percentage, the price becomes Rs. 20.25.
If each time the cut was x%, then :

(a x=9
(b) x=10
(c) x=11
(d) x=115

If 0.764 y = 1.236 x, then what is the
y—-X
y+X

(a) 0.764

(b) 0.236

(c) 2

(d) 0.472

value of ?

What is the value of

(2.247)° + (1.730)° + (1.023)° ~ 3x 2.247x 1.730x1.023

o

(22477 +(1.730)* + (1.023)" — 2.247x1.730~1.730x1.023-2.247x1.023 '

28.

(a) 1.730
(b) 4
() 5
(d) 5.247

Three planets revolve round the sun once
in 200, 250, 300 days respectively in their
own orbits. When do they all come
relatively to the same position as at a
certain point of time in their orbits ?
(a) After 3000 days

(b) After 2000 days

(c) After 1500 days

(d) After 1200 days

Qoo

29.

30.

31.

32.

What is the greatest number that divides
13850 and 17030 and leaves a remainder
17 ?

(a) 477

(b) 159

(c) 107

(d) 87

If the sum of an integer and its reciprocal
is 10/3, then the integer is equal to :
(a) 3

(b) 6

(c) 12

@ 13

Letx e {2,3,4} and y € {4, 6,9, 10}.
Let A be the set of all order pairs (X, y)
such that x is a factor of y. How many
elements does the set A contain ?

(a) 12

(b) 10

(c) 7

d 6

Which one of the following is a null
set ?

(a) A= {xis areal number : x> 1 and

x<1}

(b) B={x:x+3=3}

(c) C={®}

(d) D={xisareal number : x = 1 and
x<1}

(Contd.)



25.

26.

27.
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(a) 0.764
(b) 0.236
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Qo
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33.

34

35.

36.

37.

If (x — 6) is the HCF of x? — 2x — 24 and
x? — kx — 6, then what is the value of
k?

(a) 3

(b) 5

(c) 6

d 8

If the expression x? + 4x? + 4x + k has
(x + 4) as a factor, then what is the value
of k ?

(a) - 16

(b) 16

) 32

@) - 32

If \/10+§/;=4, then what is x equal
to ?

(a) 150

(b) 216

(c) 316

(d) 450

Which one of the following is neither prime
number nor composite number ?

(a 1

(b) 2

() 3

(d) None of the above

Consider the following table :

X 0 1 2 3 4
y (100} 90 { 70 | 40 | O
How are x and y related ?

(a) y=100-10x

(b) y =100 — 5x2

(c) y=20-x—x?

(d) y =100 — 5x — 5x?

38.

39.

40.

a b x
If Em:;:; and %+§=x—y,then what

is x equal to ?
a+b

a

(a)

a+b
® =

()
d

None of the above

The quadratic equation whose roots are 3

and ~1 is :

(a) x2-4x+3=0
) x2-2x-3=0
() x2+2x-3=0

x2+4x+3=0

(d)

Consider the following statements :

1. If nis a prime number greater than
5, then n* — 1 is divisible by 2400.

2. Every square number is of the form
5n or (5n — 1) or (5n + 1) where n
is a whole number.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

(Contd.)
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35.

36.

37.
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() 16
(c) 32
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(a) 150
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(d) 450
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(a) 1
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(c) 3
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X 0 1 2 3 4
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x M y &4 wsferg 8 7

(a) y =100 - 10x

(b) y = 100 - 5x?

() y=20-x—x?

(d) y =100 — 5x ~ 5x?

39.

40.

a_ b_x a b ___
qﬁ—l;a y lD+a_xyﬂ?1'x
fFas suex B 7

ath
(a) 2
L
(b) b

a-b
© =
(d) sHw ¥ F 7

ag feow wfien, Red g 3 8t -1
g #=-mm & ?

(@ x>-4x+3=0

b) x*2-2x-3=0

) x2+2x-3=0

d x*+4x+3=0
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. Mo T E@EI 2 N S F 9
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(a) #aa 1

(b) Fad 2

(c) 1 3 2 A=
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(Contd.)



41.

42.

43.

44,

What is the value of k which will make
the expression 4k? + 12k + k a perfect
square ?

(a) 5

(b) 7

(c) 8

d 9
x x 1

If one root of the equation —+—+—=0
a b ¢

is reciprocal of the other, then which one
of the following is correct ?

() a=b
(b) b=c¢c
(c) ac=1
(d a=c¢

If f(x) is a polynomial with constant term

10 having a factor (x — k) where k is an
integer, then what is the possible value
of k ?

(a) —20

(b) 20

(c) 8

d) 5

If a=2+43 , then what is the value of
(@+a??

(@ 12

(b) 14

(c) 16

(d) 18

45.

46.

47.

If x +y =9 and xy = 8, then what is one
of the values of (x* — y*) ?

(@) 4025
(b) 4065
(c) 4095
(d) 4905

There are some benches in a class room
having the number of rows 4 more than
the number of columns. If each bench is
seated with 5 students, there are two seats
vacant in a class of 158 students. The

number of rows is :
(a) 4

(b) 8

(c) 6

(d) 10

If tan 6 = 3/4 and 6 is acute, then what
is sin 6 equal to ?

(a) —3/5

(b) 3/5

(c) 4/5

(d) —4/5

48. What is the value of sec(90° - 0) . sin 0 sec 45°?

(a) 1
V3

2
©) V2
@ 3

(b)

(Contd.)



41.

42,

43.

44,

k @1 @F-w1 749, 9w 4k? + 12k + k
ol @ s ?

(@ 5

(b) 7

c) 8

d 9

afy e x;+%+%=0 F TF W
@ Bl YeFH B, @ fefafe 7 @
-1 TH GE B 7

(a) a=b

(b) b=c

(c) ac =1

d a=c

e f(x) T Wgue & Rred ey w’
10 8 3 (x - k) T [FEss g, w8l
k quis 2, @ k &1 gwifaq A 1 87
(a) - 20
(b) 20
(c) 8
() 5

af? a=2++3, @ @ +a2) & 1 qH
g 7
(a)
(b)
(c)
(d)

12
14
16
18

45.

46.

47.

48.

R x+y=9 M xy=8, @ x*-yY
9 Fq T AF F R 7

(a) 4025

(b) 4065

(c) 4095

(@) 4905

e e # Ho o & R Gk N
e W W e ¥ 4 e g alk
Tl® 99 YT 5 B Sad B A 158 BIAT
T HET A QI TYH @l w8 | gl
o qegr F|r 8 7

(a) 4

) 8

() 6

d 10

R tan 6 =3/4 AT 6 g7 B, @ sin@
g @Y 8 7

(a) -3/5

(b) 3/5

(c) 4/5

(d - 4/5

sec(90° — 0) . sin O sec 45° &1 HA 47
g 7
(a) 1

3
o &

) 2
@ 3

(Contd.)



49.

50.

51.

On walking 120 m towards a chimney in
a horizontal line through its base the angle

- of elevation of tip of the chimney changes

from 30° to 45°. The height of the chimney

1§ °
(a)
(b) 60(v3-1)m
(€) 60(v3+l)m
(d) None of the above

120 m

If an angle measures p degrees and q
radians, then which one of the following

is correct ?

(a) mp = 90q
(b) mp = 360q
(c) mp = 180q
(d) mq = 180p

If the angle O is in the first quadrant and
tan 0 = 3, then what is the value of
(sin 0 + cos 0) ?

(a)
(b)

(©)

S]h S]w &'M $|_.
< () o <

(d

52.

53.

54.

55.

A wheel makes 12 revolutions per minute.
The angle in radian described by a spoke
of the wheel in 1 second is :

(a) 5n/2
(b) 2n/5
() 3n/5
(d) 4n/5

A ladder 20 m long is placed against a
wall so that the foot of the ladder is 10 m
from the wall. The angle of inclination of
the ladder to the horizontal will be :

(a) 30°
(b) 45°
(c) 60°
d) 75°

If 0 <6 < 90° then all the trigonometric
ratios can be obtained when :

(a)
(b
(c)
(d)

only sin 6 is given
only cos 0 is given
only tan 0 is given

any one of the six ratios is given

What is sin A cos A tan A + cos A sin A cot A
equal to ?

(a) sin®A + cosA
(b) sinA + tan’A
(c) sin?A + cot’A
(d) cosec’A — cot?A

(Contd.)



49.

50.

51.

fordl fomdt # 3T I§S IR § BT g
Afts W@ § 120 m weR ) R &
el FT ITEA F0T 30° F FEA FT 45°
g et 81 feft & 3 s 8 7

(@ 120 m
(b) 60(3-D)m

(¢) 60(3+Dm
(d) SwF ¥ w1 T8

ofe frdt @i & 719 p foaft iR q W
g, @ frefafea & #9-a1 @ @& 2 7

(@) np =90q

(b) mp = 360q
(c) mp = 180q
(d) mq = 180p

ok BT @ W HgEe H # AR tan O =3,
qr (sin O + cos 0) F A FT B 7

1
® Tio
2
® 5
3
© T
4
@ o

52. us ufgar yfy fAe 12 oferam #ar 8

53.

54.

335.

oY $ TH aW @ 1 ¥ws ¥ Ak
For Ieww F Faar 2 7

(a) Sm/2

(b) 2n/S

(c) 3n/5

(d) 4n/s

20 m &R @ dax  feFay @ R
e & @ F oo faw q 10m
w2 W w1 AR ¥ TRy | e
B 7
(a) 30°
(b) 45°
() 60°
(d) 75°

gie 0 <0 < 90°, @1 & PRy
Fud g o1 gHd & W9 .

(@) Fa« sin 0 fomr mar @
(b) Fad cos 0 fear mwm @
(c) #ad tan 0 fewr mm @
(d) B Fgut # ¥ FE wE Bw o @

sin A cos A tan A + cos A sin A cot A

g a8 7

(a) sinA + cosA
(b) sin?A + tan’A
(c) sin?A + cot’A

(d) cosec?A - cot’A

(Contd.)



56. What is

57.

58.

1+cos0
sin O

sin O
1+cos©

equal to ?

(@) 2 cosec 0
(b) 2 secd
(c) sec O

(d) cosec 9

The angles of elevation of the top of a
tower from two points which are at

~ distances of 10 m and 5 m from the base

of the tower and in the same straight line
with it are complementary. The height of

the tower is :
(a 5m
(b) 15 m

() V50m
(d V75m

The angles of elevation of the top of an
inaccessible tower from two points on the
same straight line from the base of
the tower are 30° and 60° respectively. If
the points are separated at a distance of
100 m, then the height of the tower is

close to :

(@) 86.6 m
(b) 84.6 m
(c) 82.6m
(d) 80.6 m

59. If sinBcos® =\/§/4, then the value of

60.

61.

62.

sin* @ + cos* 0 is :
(a) 7/8
(b) 5/8
(c) 3/8
d 1/8

The locus of a point in rhombus ABCD
which is equidistant from A and C is :

(a) a fixed point on diagonal BD
(b) diagonal BD

(c) diagonal AC

(d) None of the above

In a triangle ABC,

—12—AA+§£C+%ZB=80°, then what is

ZC equal to ?
(a) 35°
(b) 40°
(c) 60°
dy 70°

In a tnangle ABC, ZBCA = 60° and
AB? = BC? + CA? + X. What is X equal
to ?

(BCYCA)
- (BC)(CA)
(AB)(BC)

Zero

(Contd.)



57.

58.

" 1+cosO

1+cos0
sin O

sin ©

g syEx & 7

(a) 2 cosec ©
(b)
(c)

(d

2 sec O
sec O

cosec O

el WA B W B, WA P e Q@
10m M 5m A T 7T A T qU
I T er § Rug & Mg § I=EA
o F F AR W FEE Fw R 7

(a) 5m

(b) 15m
() V50m
@ +75m

) s fAe 3 oY &, AR @
U F I EX@ @ W q fgaA @
I+ P HHE: 30° R 60° 2 ufR
3 g 100m g W) gud & w¢, @
e < I e wfase ol ?

(a) 86.6 m
(b) 84.6 m
(c) 82.6 m

(d) 80.6m

59. ¥ sin@cos® =+/3/4, & sin*0 + cos* O

60.

61.

62.

® A FT 8 7
(a) 7/8
(b) 5/8
(c) 3/8
() 1/8

Toagds ABCD ¥ A 3R C § &9
& ) Rug g = figuy 7w g 7
(a) fasi BD wt Frum fog

(b) fa=f BD

(c) fasoi AC

(d) SHw ¥ ML AL

st ABC #

%4A+%4C+%4B=80°,eﬁ £C B

Fqax & 7
(@) 35°
(b) 40°
(c) 60°
(d) 70°

19w ABC #, ZBCA = 60° 31X
AB? = BC? + CA?+ X 21 X fgs
qqex g 7

(a) (BC)CA)

(b) - (BC)CA)

(c) (AB)BC)

(d) TH

(Contd.)



63.

64.

65.

Consider the following statements :

1. The locus of points which are
equidistant from two parallel lines
is a line parallel to both of them and
drawn midway between them.

2. The perpendicular distances of any
point on this locus line from two
original parallel lines are equal.
Further, no point outside this locus
line has this property.

Which of the above statements is/are

correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

If the diagonals of a quadrilateral are equal
and bisect each other at right angles, then
the quadrilateral is a :

(a) rectangle
(b) square
(c) rhombus

(d) trapezium

If two parallel lines are cut by two distinct
transversals, then the quadrilateral formed
by the four lines is always a :

(a) square
(b) parallelogram
(¢) rhombus

(d) trapezium

66.

67.

68.

ABCD is a parallelogram. If the bisectors
of the angle A and angle C meet
the diagonal BD at points P and Q
respectively, then which one of the
following is correct ?

(a) PCQA is a straight line

(b) Triangle APQ is similar to triangle
PCQ

(c) AP=CP
(d) AP = AQ

Let X be any point within a square ABCD.
On AX a square AXYZ is described such
that D is within it. Which one of the
following is correct ?

(a) AX =DZ

(b) ZADZ = /BAX
(c) AD=DZ

(d) BX =DZ

In a triangle ABC, XY is drawn parallel
to BC, cutting sides at X and Y where
AB=48cm, BC=72cm, BX =2 cm.
What is the length of XY ?

(a) 4 cm
(b) 4.1 cm
() 4.2 cm
d) 4.3 cm

(Contd.)



63.

64.

65.

Prafafeg Foa 9T AR Al

1. 59 fgeh & Rigua st @ g9
Ferst & g g W) &, 3T Al
F gHiax MR AR N @
e

2. T fagmy @ w A oAE gHiaT
el @ fal g A dw gRa
9 € | 9, 39 Rigud Y@ | e
et fig 1 8 quiad 7E &)

Juded FuAl A #F-w/A qwOR/E 7

(a) Had 1

(b) Faa 2

() 1 3 2 QA

(d T AL, T8 2

ot Bl wgefs & e w8 ek
g A T ) i 1@ E
@ =g dw g ?

(a) s

by =t

(c) wHugH

(d) wHcE

IR @ wEER e, @ e s ed
e ¥ wed F @ @ o9x Yent ¥
1 wge T 8 7

(@ =

(b) wHiGT TG

(c) wHugH

(d) ws

66. ABCD @it wgyw 2| alk ®or A R

67.

68.

F0T C # fewes fawef BD wx wmm:
fig P X Q w fyerd &, & Freforier
¥ P & g e

(@) PCQA &<@ @ 2
(b) P APQ, Brgs PCQ # &AM 8
(c) AP =CP

(d) AP = AQ

w1 g X #1€ g 8 af ABCD #
T AX T 9 AXYZ T Y& &l
2 B D e fax 31 Freafafea A
HAET TF wE OB 7

(a) AX =DZ
(b) £ADZ = /BAX
(c) AD =DZ
(d) BX =DZ

By ABC #, XY @t 7% 2 BC &
A, S =R A X AR Y 9T Hred
2 w8 AB = 4.8 cm, BC = 7.2 cm,
BX=2cm 8| XY # @8 @01 2 ?

(a) 4cm
(b) 4.1 cm
() 42 cm
@) 4.3 cm
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69.

70.

Let ABC be a triangle with AB = 3 cm,
AC = 5 cm. If AD is a median drawn
from the vertex A to the side BC, then
which one of the following is correct ?
(a) AD is always greater than 4 cm but
less than 5 cm

AD is always greater than 5 cm
AD is always less than 4 cm

None of the above

(®)
(c)
(d)

Consider the following statements :

1. Area of a segment of a circle is less
than area of its corresponding sector.

2. Distance traveled by a circular wheel
of diameter 2d cm in one revolution
is greater than 6d cm.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The angles x° a° c® and (n — b)° are
indicated in the figure given above. Which
one of the following is correct ?

(a x=a+c-b

(b) x=b-a-c

(¢) x=a+b+tc

(d x=a-b+c

72,

73.

M
X N

In the figure given above YZ is parallel
to MN, XY is parallel to LM and XZ is
parallel to LN. Then MY is :

(a) the median of triangle LMN

(b) the angular bisector of ZLMN

(c) perpendicular to LN

(d) perpendicular bisector of LN

D

In the figure given above, AB is parallel
to CD. ZABC = 65°, £CDE = 15° and
AB = AE. What is ZAEF equal to ?
(a) 30°

(b) 35°

(c) 40°

(d) 45°

(Contd.)



69. A AT ABC By # AB =3 cm,

70.

71.

AC=5cm 21 3R AD, st A & BC

e ox i T Aie 8, @ el

¥ F9-97 T qel 3 7

(@) AD &AM 4cm @ w31 8 f&g 5cm
T F9 2

(b) AD B3%T S5cm ¥ w91 8

() AD 391 4cm & &9 2

(d) SWF ® FE TE

freafafeg Faa W R FIT

1. 3% TF @US H AAGT I§D €I
fregrevs & So%d @ FH 8|

2. 2dcmW$§ﬁWq%W§TUW
oA ¥ Telt g0 6d cm ¥ ST
2

Jue FuAl § FA-w/Q @@ 8/8 7

(a) Faa 1

(b) Fa@ 2

(¢) 1 3T 2 A

@ a1 T2

I RRg Mm@ &3 & F x°, a°, ¢°
(n - b)° R mu # | Prefofed & SF-a0
T gel o7

(a) x=a+c-b
(b) x=b-a-c
(c) x=a+b+c
d x=a-b+c

72.

73.

M
X N

I Ry 7w fm # YZ @8rFaX 8 MN
F XY §9Fa< 8 LM #, 3R XZ gATax
g LN 3t @ MY 01 8 7

(a) Prg@ LMN %1 wifeae

(b) ZLMN # Hofig fgwreis

(¢) LN 9X o F

(d) LN & avs fewros

D

F9 dfdg g & AB @HWaX 8 CD & |
ZABC = 65°, ZCDE = 15° 3X AB =
AE 2| ZAEF fa® syEx 2 7

(a) 30°

(b) 35°

(c) 40°

(d) 45°
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74.

75.

65°

b/

>

A E
In the figure given above ABC is a triangle.
BC is parallel to AE. If BC = AC, then
what is ZCAE equal to ?
(a) 20°
(b) 30°
(c) 40°
(d) 50°

B
In the figure given above EC is parallel
to AB, ZECD = 70° and £BDO = 20°.
What is ZOBD equal to ?
(a) 20°
(b) 30°
(c) 40°

(d 50°

76.

77.

78.

(x + 20)°

In the figure given above, LOM is a straight
line. What is x equal to ?

(a) 45
(b) 60
) 70
d) 80

What is the volume of the largest sphere
that can be carved out of a cube of edge
Jcem?

(a) 97 cubic cm
(b) 6m cubic cm
(¢) 4.57 cubic cm

(d) 3w cubic cm

If the ratio of the diameters of two spheres
is 3 : 5, then what is the ratio of their

surface areas ?
(@ 9:25

) 9:10
(¢c) 3:5

(d) 27 :125

(Contd.)



74.

75.

65°

b/

A >E
sux Ry R ¥ ABC P& 21 BC
ga=at & AE #) 3R BC = AC, @
Z/CAE Fa® swex 2 ?

(a) 20°
(b) 30°
(c) 40°
(d) 50°

B

ot RY R ¥ EC WX 2 AB #,

ZECD =70° 3T ZBDO =20° 21 ZOBD
frgs wqex & 7

(a) 20°

(b) 30°

(c) 40°

(d) 50°

76.

77.

78.

(x + 20)°

T Ry W B ¥ LOM &x@ ¥@1 21
x fdgs sTEx 8 7

(a) 45
(b) 60
() 70
(d) 80

3cem BT oa@ v A & Read smaeA
®T gETH Mo HET AT GhT B 7

(a) 9 U7 cm
(b) 6m 9T cm
(c) 45799 cm
(d) 3n¥9 cm

ot Ml @l F oFIE 3:5 8,
& ITP g HARA D F FLAE © 7
(@ 9:25

() 9: 10

(¢) 3:5

d 27:125

(Contd.)



79.

80.

81.

82.

What is the height of a solid cylinder of
radius 5 c¢cm and total surface area is
660 cm? ?

(a)
(b)
(c)
(d)

10 cm
12 cm
15 cm

16 cm

The diameter of base of a right circular
cone is 7 cm and slant height is 10 cm,
then what is its lateral surface area ?
(a) 110 square cm

(b) 100 square cm

(¢) 70 square cm

(d) 49 square cm

The perimeter of a rectangle is 82 m and
its area is 400 m”. What is the breadth of
the rectangle ?

(@ 18 m

(b) 16 m

(¢) 14 m

(d 12 m

The enclosed between the

circumferences of two concentric circles
2

area
is 16m cm” and their radii are in the
ratio 5 : 3. What is the area of the outer
circle ?

(@) 9n cm?
(b) 16m cm?
(c) 25m cm?
(d) 36m cm?

83.

84.

85.

86.

The volume of a cube is numerically equal
to sum of its edges. What is the total
surface area in square units ?

(@) 12

(b) 36

(c) 72

(d) 144

Two poles of heights 6 m and 1t m stand
on a plane ground. If the distance between
their feet is 12 m, what is the distance
between their tops ?

(a 13m

M) 17m

(c) 18 m

(d 23 m

A right circular metal cone (solid) is
8 cm high and the radius is 2 cm. It is
melted and recast into a sphere. What is
the radius of the sphere ?

(a) 2cm

(b) 3 cm

(c) 4 cm

(d) 5cm

The sum of the perpendiculars drawn from
an interior point of an equilateral triangle
is 20 cm. What is the length of side of

the triangle ?

40
(a) 7_3—cm
(b) 40J§ cm
(©) 2043 cm
20
(d) ‘\/?cm

(Contd.)



79.

80.

81.

82.

Scm a1 3T 660 cm? wA IS AR

arl A9 AT A JAR AT 8 7
(a)
(b)
(c)
(d)

10 cm
12 cm
15 cm

16 cm

TF T gUE TF P FYR AW
7 cm AT fdF F9€ 10 cm 2, @ I
uredig gss-fAed F1 g 7

(a) 110 97 cm

(b) 100 I cm

(c) 70 =t cm

(d) 49 3t cm

TF 3T F 99 82 m R ITHT QA%
400 m® 2| 39d #I SR A g 7

(a) 18 m
(b) 16 m
(¢) 14 m
(d 12m

T Hheal gl A uRfEEl § @
FAFA 16m cm? T IAH Pl w
LI 5:3 8| WY T FT AABA FU
g 7

(@ 97 cm?

(b) 16n cm?

(¢) 25% cm?

(d) 36m cm?

83.

84.

85.

86.

UF U9 $ FUIA G@URAF &Y 4 IgH
P & o & sTEx 21 &9 g
FARA I THE K oFwr & 7

(a) 12

(b) 36

() 72

(d) 144

6m M 11 m I 3 q G gHAA
A W Es B oAk IR uE & &
g 12m 8, @ 9 Mo & g N
ESURC 1
(@ 13m
(b) 17m
(c) 18 m
(d 23 m

Th g aig v (W) A S
8cm I BT 2 cm 21 3§ Ruemex
M A Qe W B oM W Brewr ww
g ?

(a) 2cm

(b) 3 cm

(c) 4cm

(d) 5Scm

TF gHag By & 39 g 9 dR om
&l $T AT 20 cm 81 Prqer & oo A
qEE o og ?

%cm

3

4043 cm

20+/3 cm

A)-Cl’n
N

(a)

(®)
(c)

(d)

(Contd.)



87.

88.

89.

90.

Let the largest possible right circular cone
and largest possible sphere be fitted into
two cubes of same length. Let C and S
denote the volume of cone and volume
of sphere respectively, then which one of
the following is correct ?

(a) C =28
(b) S=2C
) C=S8
d) C=38

The radius of the base of a right circular
cone is increased by 15% keeping the
height fixed. The volume of the cone will
be increased by :

(@) 30%

(b) 31%

(¢) 32.25%

(@) 34.75%

If the circumference of a circle is equal
to the perimeter of square, then which
one of the following is correct ?

(a) Area of circle = Area of square

(b) Area of circle > Area of square

(c) Area of circle > Area of square

(d) Area of circle < Area of square

10 circular plates each of thickness 3 cm
each are placed one above the other and
a hemisphere of radius 6 cm is placed
on the top just to cover the cylindrical
solid. What is the volume of the solid so
formed ?

(a) 264m cubic cm

(b) 2527w cubic cm

(c) 236w cubic cm

(d) None of the above

91.

92.

93.

94.

The circumferences of two circles are in
the ratio 2 : 3. What is the ratio of their
areas ?

(a 2:3
() 4:9
(c) 1:3
d 8:27

The area of a circle inscribed in an
equilateral triangle is 154 cm?. What is
the perimeter of the triangle ?

(a) 21 cm
(b) 4243cm

(©) 21\/5 cm
(d) 42 cm

The lengths of three line segments in ¢m
are given in each of the four cases. Which
one of the following cases is not suitable
to be the three sides of a triangle ?

(@ 2,3,4
(b) 2,3,5
(c) 2,4,5
@ 3,4,5

In histogram the width of the bars is
proportional to :

(a)
(b)
(c)
(d)

frequency
number of classes
class interval

None of the above

(Contd.)



87. W WY, gEew dwa degeh wig e

88.

89.

90.

95T g M A FAA T_E P ouA
& &9 @i 21 9 @i, ¢ @k S
PO TE AR MA F AT E, @
freafofea & #1-a wd 2 ?
(a) C =28

(b) S=2C

() C=S§

(d C=38

TF dagTiy wig B e A Brewm R
a3 Rux w@q g0 15% sermn m 2
E H AT e @ S ?

(a) 30%

(b) 31%

(c) 32.25%

(d) 34.75%

afe gu 1 aRfy, @f & oferm & aoex
g, o Freafofeq & #tw-ar & 2 2
(@) IO HT HARA = I H AABA
(b) 3T & fAGA > af FT AAHA
(c) IX1 W1 HARA > I H AFABA
(d) g1 1 &A% < al FT AARA

3cm AR M 10 gOSR qwarRdl
TR P FW N E, IR T 6cm B
H1 JE Faed I AW N TP Y
el T T ¥ W YRR W4 A9 w
JuaT ¥ g ?

(a) 264n uT [,

(b) 252n ¥ A,

(c) 236m u= [,

d) IR # w1 A

91.

92.

93.

94.

q g AW aRRRY w1 w23 2
I FAFC F FAG FT B ?

@@ 2:3 |

(b) 4:9

) 1:3

(d) 8:27

Pt @A F siagd @ fwed
154 cm? 81 Br@ &1 ot 71 & 2
(a) 21 cm

(b) 423 cm

© 21\/5 cm
(d) 42 cm

9 YemeEvsl #t wrEE, om ¥ 9
el A gdw A @ gE 8 PR
wwell B #19-a O, B W e g
g1 # fod Iwga A & ?

(@ 2,34

® 2,3,5

) 2,4,5

d 3,4,5

Fiferr ot A <31 A1 e e o
g 7 |

(a) sy
(b) anf =N w@m

(c) T AT

d) SHF ¥ FE
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095.

96.

97.

98.

Which one of the following relations for
the numbers 10, 7, 8, 5, 6, 8, 5, 8, 6 is
correct ?

(a) Mean = Median

(b) Mean = Mode

(¢) Mean > Median

(d) Mean > Mode

What is the harmonic mean of 10, 20,
25, 40 and 50 ?

(a) 25

(b) 30

(¢) 26.1

(d) 213

The mean weight of 150 students in a
class is 60 kg. The mean weight of boys
is 70 kg and that of girls is 55 kg. What
is the number of boys in the class ?

(a) 50

(b) 60

) 75

(d) 100

The mean of 100 values is 45. If 15 is
added to each of the first forty values
and 5 is subtracted from each of the
remaining sixty values, the new mean
becomes

(a) 45

(b) 48

(c) 51

(d) 55

. Which of the following is/are correctly

matched ?
1. Weight of a

person

: Continuous variable
2. Educational . Attribute
qualification
of the person
Select the correct answer using the code
given below :
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

100. Consider the following distribution :

Value of the variable |1 |2 ({3 | 4
Frequency 31f(6]5

For what value of f, is the arithmetic mean
of the above distribution 3.1 ?

(a) 2

(b) 3

(c) 4

@ 5
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95.

96.

97.

98.

gers 10,7, 8,5,6,8,5,8,6 & R
Freafafen §9af & @ Fr9-a1 w g
g7

(a) w1 = wIiEAH

(b) W = TETF
(c) wiem > wiftaehr

(d) W19 > TFgAF

10, 20, 25, 40 3T 50 FT sACHE AT F41
g2 7

(@) 25

(b) 30

(c) 26.1

(d) 21.3

TF FHeT H 150 fawRfar &1 wwy wR
60 kg 81 TSH F Aeg WX 70 kg &
dsfdal &1 Aew WX 55 kg 21 wenm A
el HI wear w1 g ?

(a) 50

(b) 60

©) 75

d) 100

100 #TF @1 Wiem 45 g1 R guw
Ied A § TlE H 15 WIS aur 9w
60 AT ¥ Y« ¥ 5 wen, @ A4
meg T BN 7

(a) 45

(b) 48

(c) 51

@ 55

99. fFreafafem # +F-wi/a wdr gafa

8/8 7

1.l ® 9R ;A WX
2. aufd A M o
grgan

e A fe F1 3@ w1 w9 IR g

(c) 1 X 2 A=A
(d F@1 T8 2

100. Frefofaa s 1w foem iRkl -

I &1 A7 (1 |2 |3
EIRRS RG] 3|1f16151]3

f& fog w7 & @ S §e3 =
=T "em 3.1 8 7

(a) 2

(b) 3

(c) 4

@ 5
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Note : English version of the instructions is printed on the front cover of this Booklet.



